MARCELLIN COLLEGE RANDWICK

YEAR 9 Stage 5.3
TERM 3 ASSESSMENT

20156

Weighting: 20% of Assessment Mark.

STUDENT NAME: _

TEAGHER:
_ MARK: - 160

TIME ALLOWED: 45 minutes.

DIRECTIONS:

_ = Answer all questions. .
« Show all necessary working where more than one mark is allocated to a
© question, )
» Fullmarks.may not be awarded for answers only. -
« Marks may not be awarded for badly arranged work. -
s Calcuiators are allowed — . :

Section 1 - Area, Surface Area & Volume {7 marks)

1, Calculate the area of the following figure, correct to ﬁVO-dngm(ﬂ places.

2. Caleulate the surface area of the following figure.

Correct to 3significunt flgures ond all measurements are in centimetres.

Marks




* - Section 1 continued

3. Calculate the volume of the following figures alf measurements are in
centimetres, correct to one decimal plirce.

Section 2 — Probability (19 marks} 7
1. ' Describe each of the following events using the terms impossible, ulnlikély,

even changé, likely or certain.

{a) An even number [ess than 2 results when a die Is rolled.

{b) Adieisrolledand a4 is the result,

[N

(;} A card is drawn from a deck of cards and It is a black card.

Marks

£

Marks

Section 2 continued Marks

2. List the sample space of a die being rolled. . ' 1

e

3. Abag contains 5 red marbles, 2 yellow marbles and 1 green marble. Two marbles are
drawn at random in succession with replacement.

Find the probability:

{a) Thatthe first marble drawn is red. I |

{b) A red marblg drawn first followed by a green marble. . 2

4. Adleisrolled and a coin is tossed.

{a) Complete the tree diagram. 2




(b} Whatis the prébabi!itf qf tossing & tail and rolling an even number? 1 Section 2 continued ’ o - . Marks

X 6. Inyear 9 at Mt Random High School, every studént must do Art or
{c) What is the probability of tossing a head and rolling at least a 27 1 Music. In a group of 100 students surveyed, 41 d'o: music ar}d.59‘ do art.

{a) Complete the Venn diagram using the information above. 2

¥

5. The two-way table below represents data collected from 400 people, and compares
gender and participation in exercise: ' '

if one student is chosen at random from year 9, find the probability that this

. student does:
From the population represented in the table, find the probability of setecting:
{a} both Art and Music 1
(a) a male that does not exercise : . 1
.- b} only Art . -1
{b} either a male or female that exercises’ . 2 (b) only

{c) only Music ) : _ 1




Section 3 — Coordinate Geometry {21 marks) Marks Section 3 continued o Marks
1.

¥ N ) 2. Given the Midpoint of an interval AB is-A (-2, 3) and 4is (1, 6), s
oto scale A .
i ; ' : find the point B, ) . . 2

The points D, E and F have coordinates (2,0}, {1,8) and (8,4) respectively.

Find the:
(a) Distance between D and E, correct to nearest whole number. . 2
3. Find the equation of the line that Is paralie! to the line i-;‘(‘——y—l(} =0-and
passes through the point (4, —1). ’ 3
(l;) Gradient of the line DF. ] o - ) o 3
x . '
4, Prove that the point (—6, 4) lies on the line 3’?2—5- - 2

S

{c}. Equation of the line DF, in general form. 2




. Section 3 continued Marks . Section 2 continued Marks

7. Complete the table of values and graph the curve on the number line
provided for the equation

5. Find the gradleqt and the y;intercept of 2x+3y-9=0. 2

y=4-x

i R A E N N N
4l 1 1L

6. Sketch y =2x-4 byfindingthe x & y intercepts. 3 ' ﬁ
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Section 4 ~ Statistics {13 marks) ‘ Marks

1. (a} Completa the table below. . 1
Score Frequency Cumulative .
x) {f Frequency
15 1
- 16 5
177 ' 9 -
i8 V 7
19 3

Erom the table above calculate the:

{b}) Mean e — L
{c} Median | ' : 1
{d} Range . ‘ 1

2. The times (in minutes}, spent in a shop for both men and women are recorded below.
Determine the difference between the median scores of both the men and women.

SCORES ON A CLASS TEST

MEN l Women

sgg] o0 6
saa22| 1 |2258

9311| 2 |1334556

542 3 |224 '

Section 4 continued

3. Find the interquartile range from the following sets of data:

{a} 6,3,4,5,6,9,56&2 .

(b)
Seorez i Maths tagt out pf 30
" R
& -8 - .
[ 4§ [ E [ ] :: i £ 2
1 1 1 1 I 1 L 1 1 1 i 0 ] 1
i 18 20 22 24 26 a0
T Sooea

{a) What Is the median mark?

" (b) How many students scored 457

Marks
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